BIC
10°

log[ Relative Probability ] .

Window Half—Width (km/s)

N

10

10°

—200 0

—400

1000

100

rm596 X2/ (412113-4980)=5.021
S A s

kT - - - '~ 1 -  r T T r T T T T T T T T

- BIC 2108527.50 ABIC 0.000 AlogP 0.0000 1

i X% 2044140.88 Ax? 0.000 AlogP 0.0000 -
- B

o=

X

i 4980 ]

A
L L L L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1
5 10 15 20 25 30
30 iterations

rm596 X%/ (412113-4980)=5.021

FrF————— - T - - - - 1 - ~ - - T r T T " 1T ' T T T T T T T T T4

BIC 2108527.50 ABIC 0.000 AlogP 0.0000

[ X% 2044140.88 Ax* 0.000 AlogP 0.0000 _

Fe2 11% 398+126 km/s
rm596 BLR 5780 NLR 900 km/s

30 iterations

BLR

NLR

1 Fell

kdh1 14-0ct-2021 23:59



